coboonon
Jobobobbdgoboobgbbooouobooon

gooo-

20040 60 2301

1 O0o0oOOoood
00000000000 1600 170000000000000000000000000000
160 0D00OO0O0OOOOOO

170 O0OO0OO0OO0OOOOOCOOOOODbOOOd

2 0DO00DO00000O00 (e60)

000000000 00000O000U00oOo0OUU0U0OOUO0DODO0DUDDOOODOOUOOOO (ooOo)
ooOboooobOoobOoobOoooboOobooOoooooooboobobooooboobboboooobobon
goooooboooboboooboboooobooooooooboooboobobooobobooobobo

2.1 0000000000 (p.282)
2.1.1 0OD00OD0O0ODOD0OO0ODODODOOOOOOOOOO

gcoooooooocoooooboobbooOoDpoboooOooooUobboooDoDooOooGg
gbooooooboooobobooooooboooobooooobbobobooooooooooobg 1
gooooOoooo

e printf ) 000000000000 O0OOODO
e main() 0 plus_print() 0000000000000

gooad

*000000 MOo0oooooo000 moooo



OO Utk WN

0~ Uk WN -

000 1: 00000000

#include <stdio.h>

void plus_print (int i, int j);

/#=============================================%/
/* main O 0O */
/#=============================================%/

int main(void){
plus_print (1, 4);

return 0;

}
/*=s==========================s=s======s=s==========x/
/* plus_print O O x/
/*=============================================*/
void plus_print (int i, int j){

int sum;

sum = i+4j;

printf ("%d+%d=%d\n” , i, j, sum);
}

2.1.2 00000000 O0OOOOOOOOOOOOOCOOO0ODO

00000000 Oprintf(O 0 scanfO 00 O00D0OOCODOO0OO0OO0ODOOOOOOOOOOODODOO
O0oO00O000oo0O00oooooooooOoo00oo0OoOoOoOgOoANSICOOOOOOOoooOon
O000000OooOO0000OoooDO000oUDooOoCoU0DUOOOCOCOOUOOUOOoDOoANSICODOOO
OO0o0o0 cOoboboOoD00bO00ooboOoDoOoDo00bO00d Oprintf() 0 scanf(O0sin(), cos()
000000000000000000000000000000000'00000000000000
O0D00000000000D0 uwsleepOUODODODOODODOOOOOOOODO 2000000000

e printf O 0 OOODOOO0OODOOO
e usleepO 0 OOO0D0O0O0ODODOOOOOODOOODOO

gogono

Ubd 22.0000000000000 usleepOOonon

#include <stdio.h>
#include <unistd.h>

int main(void){
int i;

unsigned long int t;

t=1;

00000000000 00000000000000000
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for (i=1;i<23;i++){
tx=2;
usleep (t);

printf (”"%lu\tHello World\n”
}

return 0;
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}
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dobooboooobooobooboooboobOoobOOoboobooobooooobooobobOobooboon
00000200000000000000000000 stdin000000 stdout00000000O0O
ooooooooo

gogoo — Q0000 — stdin
goooobob — 0000 —  stdout

2.3 000000 printf(p.320)

000000 (printf) 0000000000000 OUOOOOOODOO P3200325000000
oooboooooooon
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#include <stdio.h>
#include <math.h>

int main(void){
printf (?%lf\n”, M_PI);

return 0;

}

2.4 00000OD0O scanf(p.326)

0000000000 O0000ood scanfO000000O0OOOOOOOOOOOOOOOOOOO
00000003 0000000000000000000O00D0000000O0

O000O000D0OCOD0O000DO00O00D000O00D [Enter]0000O0OCOO [Enter] 0000
0000w O000000o0oo00O00000U000O0D000D000o0oOoo0o\wO0ODOOOoOoooo
obOooboobooob4000000000

2c00000000000000000000000000000000
S00D000000000000000
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o fgetsOOOODOODOO

e revind 1040000000000 OODOO

gooobOoboobooboooooooobobooooboooog
000000000000 (scanf) 000000000 OOOOOO

24.1 100000

gogoboabi1ibobobooodd augbogbogoooon

char a;
char temp;
char dmystr[128];

OO0O0OO0O[Enter] JO0DOO0O0ODOOODO40000000000000000D00

e scanf ("clc", &a, &temp);
e scanf ("%ch*c", &a);

e scanf ("%c", &a);
fgets(dmystr, 128, stdin);

e scanf ("%c", &a);

rewind(stdin) ;

24.2 000000

OO0oDoOOoOO0ODOOO0OO00O0ODO0O00aOO0O0O0O0Db0OODOOn

char a[128];
char temp;
char dmystr[128];

O00OO0O[Enter] 0000000000 400000000000000000000O000O0O0O0O00O00O
00000 0000000000000 00000000 scanfOOOO0OO0O0OO0OO0OOOODOOOODOO
0000000000000 0OgetsOOODOOO

e scanf ("Ys%c", a, &temp);

e scanf ("%s¥h*c", a);

40000000000000000000



e scanf("%s", a);

fgets(dmystr, 128, stdin);

e scanf("%s", a);

rewind(stdin) ;

24.3 00 (1000)000
0000000000000000 00000000000

int a;
char temp;
char dmystr[128];

O0O00O[Enter] O0DOO0O0ODOOODO 40000000000000000DO

e scanf ("/dlc", &a, &temp);
e scanf ("%d%*c", &a);

e scanf("%d", &a);
fgets(dmystr, 128, stdin);

e scanf("%d", &a);

rewind(stdin);

244 0O0O0O0O0OD0OODO
ob0OO00000bO0bO0o0obOOoObO0b0 «0b00o0obObO0obon

double a;
char temp;
char dmystr[128];

OO0O0O[Enter] JO0DO0O00ODOO0ODO40000000000000000DO

e scanf ("/1f%c", &a, &temp);
o scanf ("%1fY*xc", &a);

e scanf ("%1f", &a);
fgets(dmystr, 128, stdin);

e scanf ("%1f", &a);

rewind(stdin) ;
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godobob 200000000000 00b00 ab0p0D000D0O0DODOO

double a, b;
char temp;
char dmystr[128];

OO0O0O[Enter] JO0DOOOODOOODO 40000000000000000DO

OO0000DOO0O0000000o0o0D tab0DOO0ODDO

e scanf (")1£%1f%c", &a, &b, &temp);

o scanf ("%41£%1lf)xc", &a, &b);

e scanf ("%1f%1f", &a, &b);
fgets(dmystr, 128, stdin);

e scanf ("%1f%1f", &a, &b);

rewind(stdin) ;
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3 000000DoDooooooo (1e0)

3.1 0000 (p.351)

dodpdblibibdboodbobbbbiiodbbiou bbb Ud<math.>0dgn
goooooooooooooooooooa
#include <math.h>
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3.2.1 0O0OO

oo coboooooooobodoobpOoboOooooooboooooobDoOoooooOooDboobOoOoDo
OO0000oO0O0O0000000000000O0 FORTRANODODOOOUODODOOODODOOD CO
goboobooboooooooboooobobooboooonn

ob0ooooooboogo p47iobooooooonon

001 1+¢0000000000000000000000000000O0 cabs()O0O0OO
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